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�� .2ÀpÁO ÈM–LÉ3�\�§ÈR–HÉ&_y�$�~� R–M–H 6Q2�L+½N
l%�R–H &*_y)V£"$«Ä92.*&92� 
� Step 1: M–L 
 M + L,    Step 2: M + R–H 
 R–M–H 
�s6i1$_y¹s6�n��78DH<CF>?6¬" &�4�L = CH3COO *h
a+ ΔH‡ = +28.3 kcal/mol, ΔS‡ = +3.9 cal/(K•mol), L = CF3COO *ha+ ΔH‡ = +15.3 
kcal/mol, ΔS‡ = –30.0 cal/(K•mol) &(" � 
(1) �3�3* L )#�$�u¹�Ã+ step 1, 2 *'!02���6#5$¸,(��� 
(2) �3�3* L)#�$�R–H *M51) R–D 6_y��2&�_y¹s+'0i\9
22���6#5$¸,(��� 

�  
�� 12C–O¨a*f��[�+ 1100 cm–1 Yv%.2��*¨a3X��32_y*¹s± 
bNOZ�)#�$��*�Å)w"$ k(12C–O)/k(13C–O) *k4�6®¢.1(���
�s+ 298 K &92�O+9,$ 16O &92�(1) 12C–O *�[*=F�9AE;J*k
4�6 J/mol ]N%�-2�(2) 13C–O *�[*=F�9AE;J3 12C–O *PT)(2
26�-�12C–O & 13C–O *=F�9AE;J*q6�-2�(3) 78DH<*t6R"
$�k(12C–O)/k(13C–O)*k4�6�-2� 

 
�� ¾�§bNOZ�6°,2 -*¦S(oÇ&�$�¼W )¾�§\�3 \a�*_
y6°,2��3.2�K*_y%�^�3 10% �³�3 &�4%_y6�-$�~�
*¿6°, �kH/kD = 6.7 %.2&4�A, B +�3�3P%�~�$�22� 
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